EARAROBEEIERT — 2 N— IBISH —F

2012 11B3A (£) SEFE=1H

SR N

5

CES)

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — | Z (%) 18000 B

[A~&£] 17 :7,000,000  ~ 23 :2,800,000 37 :1,800,000

/473 11,100,000 5 7& :700,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
K r S 4 2 | HIDHME 1:50.8 2-1-1 4.1 — 12 | 490 |HWRE (E#)
N NEEEREEEE: 5.0 o o) | FIvavER (1)
R:O-I>FUL Biv—sbkviay RS g IEERRR by Y3 I
— : oo | BEESE 1:50.8 233 |33.9| — 6 53 | &MEE ()
2 13 I 21— R 55.0 (NF) (=) EHEME
ZZYYTHTF— BiATON-NT X O4ks
.= S 2 | EHEE 1:50.9 8-6-7 33.6| — 4 510 | =/ BHF (EH)
3l 2 EFINLR B * 573.0 (1/2) (=) EF=ERE
LTI RExAL B4 NVARAX =14 AL
o= s 2 | ALHEF 1:51.1 4-4-4 | 34.1| — 9 478 | REE (E#)
4|7|10|F—-FZ77 T 5.0 (1 1/4) o | @) o= Fr-2557
R:d—IRkAaqO— B:trg—-7>vzx0 R A
. H % 51 -6~ 8] - = ()
5 g| 77 —ARMIN- "2 1(/;515; veT B8 ! (438) SEE
R:Er/n7JOo4 B:70LT77—X b HBE77— L4
RS # o2 | EPR 1:51.2 7-6-6 |34.0| — 2 476 | DNEETESA (58)
67|11 FRBINVT TR 55.0 (3/4) (o) | @) 272K
R:xALZT7—2 BATrIIL—I w77 — L4
s PN, 4t 2 | Hlgess 1:51.5 8-9-9 |34.1| — 1 452 | BIUEER (ER)
7 3| KT =227 54.0 (1 3/2) o) | EEm
RRTA RN B2 T F— HET7—L
S, = 4 2 | ZHZ 1:51.5 1-9-10 |33.9| — 5 532 | EHBMREA (i)
8 5 WY == 55.0 (7€) (—) AR
R:7Rv4 YY1 B:T1/07523 AF OIS
N AAREIEE :51. -13- . — hEBL (i)
olglig ¥e=>7udy— o2 el 1 531*)5 11-13-12 | 33.6 1 (456) e
LYY=t 5T714L BYTZUTvILE SREHUS
N S 4 2 | EHERH 1:51.6 1-2-2 | 34.8| — 3 460 | BERRIME (5E3R)
10/51 6 7YANO—X 55.0 (1/2) (—) FEREIL R
RRFAT—E BALTYITaA PEENE ¢
B B o2 | ZHE 1:51.8 11-11-10 [34.1] — 8 444 | BAEBB (ERH)
1ls|7|>¥77€/%K> 55.0 (' 1/4) (o) | B A
L7 R4 Y L= Bd—LWTFooUdr— arae]
> o2 | ARHER 1:51.8 5-4-4 | 34.8| — 10 | 510 |#LAEE GE)
1211 |FRAEATXY .0 (NF) (=) | A EvILy KT7—L
T RIAYT IR B RATEYLYY EviLyRT7—L
. # 2 | RLRKA 1:52.1 10-11-12 [ 34.1| — 13 | 462 |EBIMIA (E#)
EH 9|7 M>7xR— 55.0 @ ) | @R
LNTIWHLTZzA— B:a—-94TU7F /B H—
@ 71 L
) 46.9-34 .1
NO>24 4L | 13.2-11.8-12.8-13.1-13.0-12.8-11.6-11.0-11.5
@ 1—F—@&BIEf
12—7—
2ol=7r= (4,%6,13)10(1,8)11(2,3)9(5,7,12)
S=57= (x4,6)13(1,10) (2,8,11) (5,3) (7,9)-12
40—F— (*4,6)13(1,10)11(2,8)3(5,7) (12,9)
[ RN
B OB 4 9,930 714K 4-13 12,950M e & 4-8 4,180M &R 2-4-13 137,640M
8 B 4 2,400/ 2-4 9,260/ B & 4-13 68,950 3B 4-13-2| 2,086,690/
13 420M 2-13 1,240H B H 4-13 139,510
2 310H

ABICOVWTRDTEEERROODE. TR LIV,




